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keyboard input
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Hello, World!



"Hello, World!"



"Hello, World!"

‘Hello, World!"



Gmello, World!™

(Hello, World!®
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Standard Output

print()
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Standard Output

orint()

print("Hello, World!")

print('Hello, World!")



Standard Output

print()
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Built-in Function
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The Python Standard Library
https://www.python.org
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print("Welcome to\n\tthe world of\n\tcomputer science!")
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"\n" is a newline character.
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Yesterday all my troubles seemed so far away.
Now 1t looks as though they're here to stay.
Oh, I believe 1n yesterday.
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Yesterday all my troubles seemed so far away.

Now 1t looks as though they're here to stay.

Oh, I believe 1n yesterday.



print()
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Arithmetic Expression
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Integer real number
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fixed point

floating point



fixed point

3.141592
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floating point



fixed point

0.0000000025

floating point

2.5e-9
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fixed point

0.0000000025

floating point

2.5e-9
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Associativity

2 -3-4
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2 -3-4
\



2T

Associativity
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str
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float
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Overloading

A2 =07 "20" + "21"
A= 5t 2000 + 21
_|_
_ 2000.9 + 21.0
2= LSt

2020 + 1.9



str(x)

int(x)

float(x)
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int(7) float(3) str(2018)
1nt(0.1) float(3.14) str(3+4)
1nt(3.84) float("3.14") str(1.414)
int(0.2e3) float("3") str(0.1*%0.1)
int("2020") float("0.1*0.1") str(3.15e-3)
int("3.14")

int("3+4")

int("three™)
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Debugging

Syntax Error Run-tlme Error {1ame 205 47 os
9.087 §YC 795 <oy
)3 T‘}{? He nc W/réﬂ 76/5725055(-9)
63y  PRO. > 2. 130yr6YiS
El-oﬁl 2% deJf 2. /'30Z76:/
7 b-x = 033 fuU] ,1,,,.,.,1 ‘T""J Jeob
Type Error e M P
102 D—j;r‘f‘ COSU'\G (Slhe d\cck)
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aH o= Value Error + Mot n relagy
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Zero Division Error

taken from Wikipedia
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